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[57Hl01X]: X Hmj ZE]

x_train, x_test, y_train, y test = train_test_train(x, y, test_size=8.2,

random state = 2820)

train_test split(x, y, test size=0.2,

X_train, x_test, y_train, y test
random_state = 2020)

[57H|0]X|: & ¥l 2= 18]

normal_train, normal_test = train_test_train(normal, test_size = 8.2,
random_state = 2020)

anomary_train, anomary_test = train_test_train(anomaly,test_size = 8.2,
random_state = 20820)

normal_train, normal_test = train_test train(normal, test size = 0.2,
random_state = 2020)

anomaly train, anomaly = train_test split(anomaly,test size = 0.2,
random_state = 2020)

[57H|0]X|: & ¥l 2= 33H]

normal_train, normal_test = train_test_train(normal, test_size = 8.2,
random_state = 2020)

anomary_train, anomary_test = train_test_train(anomaly,test_size = 8.2,
random_state = 20820)

normal_train, normal_test = train_test train(normal, test size = 0.2,
random_state = 2020)

anomaly train, anomaly = train_test split(anomaly,test size = 8.2,
random_state = 2020)
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[57HI0IX]: 5 Huj Z= 3]

normal_train, normal_test = train_test_train(normal, test_size = 8.2,
random_state = 2828)

anomary_train, anomary_test = train_test_train(anomaly,test_size = 8.2,
random_state = 2828)

normal_train, normal_test = train_test train(normal, test size = 0.2,
random_state = 2020)

anomaly train, anomaly = train test split(anomaly,test size = 8.2,
random_state = 2020)

[57H|0|X|: = tHinf T = 33H]

normal_train, normal_test = train_test_train(normal, test_size = 8.2,
random_state = 2828)

anomary_train, anomary_test = train_test_train(anomaly,test_size = 8.2,
random_state = 2828)

normal train, normal_test = train_test train(normal, test size = 0.2,
random_state = 2020)

anomaly train, anomaly = train test split(anomaly,test size = 8.2,
random_state = 2020)

[S8HIOIX]: 3 Huj Z= 1]

normal_train, normal_train = train_test_train(normal_train, test_size = 8.25,
random_state = 2020)

anomary_train, anomary train = train_test train(anomaly train, test_size =
©.25, random_state = 2020)

normal validate, normal validate = train_test split(normal_train, test size
= 0.25, random_state = 2020)
anomaly train, anomaly train = train_test split(anomaly validate, test size
= 0.25, random_state = 2020)
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[S8HIOIX]: 3 MHuj Z= 1]

normal_train, normal_train = train_test_train(normal_train, test size = 8.25,
random_state = 2020)

anomary_train, anomary train = train_test train(anomaly train, test size =
©.25, random_state = 2020)

normal validate, normal validate = train_test split(normal train, test size
= 0.25, random_state = 2020)
anomaly train, anomaly train = train_test split(anomaly validate, test size
= 0.25, random_state = 2020)

[S8HIOIX]: 3 Huj Z= 3]

normal_train, normal_train = train_test_train(normal_train, test size = 8.25,
random_state = 2020)

anomary_train, anomary train = train_test train(anomaly train, test size =
©.25, random_state = 2020)

normal validate, normal validate = train_test split(normal train, test size
= 0.25, random_state = 2020)
anomaly train, anomaly train = train_test split(anomaly validate, test size
= 0.25, random_state = 2020)

[S8HIOIX]: 3 MHuj I= 3]

normal_train, normal_train = train_test_train(normal_train, test size = 8.25,
random_state = 2020)

anomary_train, anomary train = train_test train(anomaly train, test size =
©.25, random_state = 2020)

normal validate, normal validate = train_test split(normal train, test size
= 0.25, random_state = 2020)
anomaly train, anomaly train = train_test split(anomaly validate, test size
= 0.25, random_state = 2020)
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[S8HIOIX]: 3 Huj Z= 3]

normal_train, normal_train = train_test_train(normal_train, test size = 8.25,
random_state = 2020)
anomary_train, anomary train = train_test train(anomaly train, test size =

©.25, random_state = 2020)

normal validate, normal validate
= 0.25, random_state = 2020)

anomaly train, anomaly_ train

2020)

= 0.25, random_state

= train_test split(normal_train, test size

= train_test split(anomaly validate, test size
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[127mI01X]: & Huy = 3]

normal = df[df.Class == @].sample(frac=0.5,

random_state=2020).reset_index(drop=True)

anoma+ly = df[df.Class == 1]

normal = df[df.Class == @].sample(frac=0.5,
random_state=2020).reset_index(drop=True)

anomaly = df[df.Class == 1]
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